 

	#
	Section #
	Page #
	Problem #
	Your Solution
	Final Answer

	1
	2.5
	223
	26
	7(3x+4) = 8(2x+5) + 13
	 

	2
	2.5
	223
	28
	2(x-3) - 3(x+5) = 3(x-2) - 7
	 

	3
	2.5
	223
	30
	3x – 5(3x-7) = 2(x+9) + 45
	 

	4
	2.5
	225
	44
	Geometry-The length of a rectangular playing field is 5 ft less than twice its width.  If the perimeter of the playing field is 230 ft, find the length and width of the field.
	 

	5
	2.5
	226
	54
	Science and medicine-A bicyclist rode into the country for 5 h.  In returning, her speed was 5 mi/h faster and the trip took 4 h.  What was her speed each way?
	 

	6
	2.5
	226
	56
	Science and medicine-A bus leaves a station at 1P.M., traveling west at an average rate of 44 mi/h.  
	 

	7
	2.5

	227
	58
	Science and medicine-Martina leaves home at 9 A.M., bicycling at a rate of 24 mi/h.  To hours later, John leaves, driving at the rate of 48 mi/h.  At what time will John catch up with Martina?
	 

	8
	2.5
	227
	62
	Business and finance-There are 850 Douglas fir and ponderosa pine trees in a section of forest bought by Sawz Logging Co.  The company paid an average of $300 for each Douglas fir and $225 for each ponderosa pine.  If the company $217,500 for the trees, how many of each kind did the company buy?
	 

	9
	2.5
	227
	64
	A common mistake when solving equations is the following:
The equation:       2(x-2) = x+3

First step in solving:  2x-2 = x+3

Write a clear explanation of what error has been made.  What could be done to avoid this error?
	 

	10
	2.6
	236
	20
	Business and finance-Paul invested $5000 in a time deposit.  What interest will he earn for 1 year if the interest rate is 6.5%?
	 

	11
	2.6
	236
	22
	Science and medicine-A chemist has 300 milliliters (mL) of solution that is 18% acid.  How many milliliters of acid are in the solution?
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	12
	2.6
	237
	26
	Business and finance-Ms. Jordan has been given a loan of $2500 for 1 year.  If the interest charged is $275, which is the interest rate on the loan?
	 

	13
	2.6
	238
	38
	Statistics-A survey of 400 people found that 66 were left-handed.  What percent of those surveyed were left-handed?
	 

	14
	2.6
	239
	52
	Business and finance-The electricity costs of a business decreased from $12,000 one year to $10,920 the next.  What is the rate of decrease?
	 

	15
	2.6
	240
	58
	 [image: image2.png]58. Business and finance. If the total bill at a restaurant, including a 15% tip, is
$65.32, what was the cost of the meal alone?

The following chart shows U.S. trade with Mexico from 1992-1997. Use this information
for exercises 59 to 62.

U.S. Trade with Mexico, 1992-97
Source: Office of Trade and Economic Analysis,
US. Dept. of Commerce
(millions of dollars)

MEXICO

Year Expors  Imports  Trade Balance!
1992 $40502 .. $35211 ... $5381
1993 4581 ... 399017 . 166t
19042 50844 .. 49494 . 1350
1995 46292 ... 61685 ... —15393
1996 56792 ... 74297 ... —17.506
1097 71388 85938 ... —14.549

(1) Totls may not add dve o ounding
(2)NAFTA provisions began o take effct an. 1, 1994




	 

	16
	2.7
	253
	18
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	17
	2.7
	254
	34
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	18
	2.7
	256
	74
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	19
	2.7
	256
	82
	 2 times a number, increased by 28, is less than or equal to 6 times that number.
	 

	20
	2.7
	257
	92
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	21
	2.7
	257
	94
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